Algebra IT Logs STATION 1

Sebe==for x. NO CALCULATOR. Show ALL WORKI
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Algebra IT Logs STATION 2 Marme Per
Salve for x. USE A CALCULATOR. Show ALL WORK! £RUrd 40 Modhoat Hhausavd ity ;
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Solve for x. USE A CALCULATOR. Show ALL WORKI!
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Algebra IT Logs STATIOM 4
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Write the equation for each, then solve the question. Use the half-life formula: v = a(0.5)" (Be careful, remember \

you need to do something extrall)
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L. The half-life of iodine-131 is 8.10 days. How long will | 2, The half-life of a certain bacterial is 3.7 hours. I

the lab has o sample of 1000 bacteria, how many
bacterial will be present after [fhours?
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annual interest rate of 1.5% compounded continuously,

’3. Toe has invested $3000 in o savings account paying an
Find the balance after 4 years., 4 = Pe”
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4. Mrs. Sillyhead has a credit card balance of 150000
which she decides she does not want te pay. If her bank

is charging her an annual rate of 27.5% compounded |
continuously, find how much she will owe in 5 years,,
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j«:mpl:ta the table, graph, give the intercepts and the domain and range for each. Use a different color for each \
raph,
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Complete the table, graph, give the intercepts and the domain and range for each. Use a different color for ne-::l:l"u\r
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